P-8

APTITUDE TEST FOR B.Sc. GRADUATE IN ENGINEERING
ATUITIeRt o ot TEH, FHT & faT Srfasta adteror

Lim V(1 = cos 2(x — 1))

x—1 x-1

(A) exists and it equals V2

(B) exists and it equals —V2

(C) does not exist because x-1— 0

(D) does not exist because left hand
limit is not equal to right hand
limit

The classes of the type 1-5, 6-10,

11-15, 16-20, .... are called

(A) discrete classes

(B) inclusive classes

(C) exclusive classes

(D) none of these

The function
log,(1 + ax) — log (1 — bx)
f(x) = "
is not defined at x = 0. The value which
should be assigned to f at x = 0 so that
it is continuous at x = 0, is
(A) a-b
(B) a+b
(C) log,a-log,b
(D) none of these

A function is defined as
X3 xe<1
f(><)—{X 21
The function is
(A) continuous at x =1
(B) differentiableatx =1
(C) continuous but not differentiable
atx =1
(D) none of these

The locus of the mid—point of a chord
of the circle x? + y? = 4 which subtends
a right angle at the origin is

(A) x+y=2

B) x*+y’=1

(C) x*+y?=2

(D) x+y=1

1.

. A(L-cos2(x—1))

g x-1

(A) HASE AT TEN2 FH REXE |

(B) UNE TATE T TE—\2H R E |

(C) x-1—> 0% HRUT [T el Tl |

(D) HISE &l @A itk SrHTEdT dT
RIS HHT & TA =T erl |

gt % e’y 1-5, 6-10, 11-15,
16-20, ... Sl 4T e ¢ 2
(A) Tgaaq st
(B) THEeT St
(C) eruarstd siforat
(D) T ¥ HE T
X =0 W Hwe A

log,(1 + ax) — log,(1 — bx)
f(x) = "
T =&t glear | 9/ | % 9§ e
X=0WfH { W afs TEx =0 ™
T & ST 2
(A) a-b
(B) a+hb
(C) log,a-log,b
(D) T | ®FE T
T FeAT i

X3 ixP<1
f(X)—{X x2>1
w9 1 i fpar STar € | 98 wor ¥
(A) x =19 gad |
(B) Xx=1W 3M@HeH |
(C) x =1 I ik Tashei el |

(D) = W HE T

Tq X2 + y? = 4 & S gefag @&
foguer & & ST ST W GHSIOT H
AN HAT T 2
(A) x+y=2
(B) x*+y?=1
C) X*+y*=2
(D) x+y=1




10.

To plot a frequency polygon, we must
have a

(A) Continuous distribution
(B) Ungrouped distribution
(C) Grouped distribution
(D) Discrete distribution

The equation of the directrix of the
parabola y? + 4y + 4x + 2 =0 iis

(A) x=-1

(B) x=1

(C) x=-3/2

(D) x=3/2

The equation of the circle passing
through (1, 1) and the point of

intersection of x> + y> + 13x - 3y = 0
and 2x° + 2y? + 4x -7y - 25=0is

(A) 4x° +4y? —30x—-10y-25=0
(B) 4x%+4y?+30x—-13y-25=0
(C) 4x>+4y?>-17x-10y+25=0
(D) None of these

For qualitative type data, which is most
suitable average ?

(A) mode

(B) mean deviation
(C) standard deviation
(D) median

/2

The value of j dx
0

is
1 + tan®x

(A) 0
B) 1
©) nl2
(D) nl4

10.

Mg T 3 & ToIT, TR o1 &
=eT Th

(A) Had faaor

(B) eTeriichd fearemor

(C) aiiehd fareor

(D) 3THad faaRor

WAAT Y2 + Ay + 4x + 2 = 0 % Fdar &
TR &

(A) x=-1

(B) x=1

C) x=-3/2

(D) x=3/2

(1, 1) ¥ ToRA a6t ga 1 qHEOT
X2 +y? + 13x — 3y = 0 3T 2x% + 2y° +
4x — Ty — 25 = 0 1 Uiq=as fog &

(A) 4x%+4y?> - 30x— 10y —25=0
(B) 4x%+4y?>+30x-13y-25=0
(C) 4x2+4y>—17x-10y+25=0
(D) = ¥ &g el

T TR o T2 o (oW, Faiges
UG 3HEd BT T 2

(A) HE

(B) ured fa=er
(C) =FS fadeH
(D) wEE

/2
dx
f 1 + tan®x FAAE
0
(A) O
(B) 1
(C) /2
(D) n/4

P-8



11.

12.

13.

14.

15.

P-8

2

The value of j (ax® + bx + ¢) dx 11.

-2
depends on the values of

(A) aandb (B) aandc

(C) bonly (D) conly

The solution of the equation 12.
X2 _X

_x +xy + Y2 is
(A) X
@)wﬂ@ﬂmmc
(C) tan™ &) logy +c

(D) tan‘lg) =logy+c

tan‘l(x) =logx +c¢

The
through (3, 9) which satisfies the
differential equation

ax—x+ = IS
(A) 6xy = 3x? — 6X +29

(B) 6xy = 3x* —29x +6
(C) 6xy=3x>+29x—6
None of these

Standard deviation
change of

(A) origin

(B) scale

(C) both origin and scale
(D) none of these

Acurvey =
(4, 3) and the normal to the curve at that
point happens to be a tangent to the circle

x% +y? = 25. The value of f (4) is

& 3 ® °
© 3 ©)

equation of the curve passing 13.

is affected by 14.

f(x) passes through the point 15.

2
j (ax? + bx + ¢) dx =1 A fergek 7=

-2
W E 2

(A) adhb (B) adc
(C) Hab (D) aeTc

Wﬁ?ﬂﬂsz—x—x + Xy + y2 &1 & T
T2
(A) tan‘lef =logx +c¢

)
(B) tan‘lej =logx +¢
(C) tan” (yj logy +c
(D) tan‘leg =logy +c

(3, 9) ¥ TSRA ATt S5k T GHIHIT i
1

m%ﬁﬁwqaﬁa?m%:x+;aﬁ
T HAT E 2
(A) 6xy = 3x? — 6x +29

(B) 6xy = 3x?—29x +6
(C) 6xy=3x+29x—6
(D) = ¥ WHis el

O fooe e aRads @ wfad
BT & 2

(A) T

(B) @

(C) T d whe

(D) = W T Tl

T Ty = f(x) |55 (4, 3) ¥ ToRaT € 3R
39 fag W g% & ofwad adn a8 o

A X% + y? = 25 I W9 W@l el ¥ |

f'(4) 1 9 fohe & 2
a2 ® °
© 3 © =



16.

17.

18.

19.

20.

21.

If 3x + 2y = 1, where X, y € R, then
minimum value of X% + y? is

1 2
(A) 13 B) 13
©) % (D) None of these

The formula for quartile deviation is
(A) Q;-Q

(B) (Q;-Qp)/2

(C) Q42

(D) (Q-Q/(Q3+Qy)

Which is unitless measure of dispersion ?
(A) Range

(B) Quartile deviation

(C) Coefficient of variation

(D) Standard deviation

The variance of first n—natural numbers
is

(A) (n+1)/2 (B) (n®-1)/2
(C) (n®-1)/12 (D) (n*+1)/12

Ifx= 1 the value of

51
cos (cosx + 2 sin~Xx) is

1 1
(A) 5 B) -5%
© 3 () -5

If u, and u, are solutions of Laplace
equation, then
(A) uju, isalso a solution

(B) cu; + cyu, is also a solution
where ¢;, ¢, € R

(C) u,/u, isalso a solution

(D) None of these

16.

17.

18.

19.

20.

21.

AT+ 2y =1 S@IX, y € RE, &
X% + y2 T AT A e € 2

A ® 5

© 1% (D) IR T
e foraem & fw g € 2

(A) Q3_Q1

(B) (Q;-Qp/2

C) Q42

(D) (Q-Q)/(Qz+Qy)

TehHIUT T ShTE e AT =T & 2

(A)

(B) =g faaer

(C) uRed= 1 ot

(D) wFF faae

TEEAT N—JTehicieh HEAT T THIOT T € 2
(A) (n+1)/2 (B) (n*-1)/2
(C) (n®-1)/12 (D) (n*+1)/12

A x = g &, A

cos (cosx + 2 sin~1x) =1 A o & 2
A) ® -3

© 3 ©) -7

T Uy T U, AT FHIHT % & &, Al

(A) uu,FTHEAT |

(B) cuu, + Cu, ST TH &A 7, TS
€, CeR

C) ufu, I THEAE |

(D) =9 ¥ HIT 7 |

P-8



22.

23.

24,

25.

P-8

T
3
Let D divide BC internally in the ratio
sin Z/BAD
sin ZCAD

In a triangle ABC, /B =5 and ZC = %

1:3then is equal to

® 3

(D) \/@

The mean of first n-natural numbers is

A) §n42-l) (B) ngn2+ 1)

A) ﬁ

©) %

n

© 3 O 1

If A and B are two independent
events with P (A) = 0.6, P (B) = 0.3,
then P (A" n B') is equal to

(A) 0.18

(B) 0.28

(C) 0.72

(D) 0.82

Answer Q. 25 to 29 after reading the
given statement :

Three newspapers A, B and C are
published in a certain city. It is
estimated from a survey that 20% read
A, 16% read B, 14% read C, 8% read A
and B, 5% read A and C, 4% read B
and C and 2% read all the three
newspapers. What is the probability
that a normally chosen person

does not read any paper
(A) 0.60

(B) 0.50

(C) 0.65

(D) None of these

22.

23.

24,

R ABCH /B=3 9/C=7 ¥ |

AT BC &t D 27 €9 ¥ 1 : 3 3rura
3 ff W%FﬁSinABADﬁ ;

sin ZCAD
TR T ?
™ & ® 3

© ® /%)
T N-EFY0T W AT §

A) gnglz B) n(n2+ 1)

© 3 (D) 1
IcP (A)=06,P (B)=0.3F AT AT
B g, @ "eAd &, df P (A' N B)
foheep e € 2

(A) 0.8

(B) 0.28

(C) 0.72

(D) 0.82

T I H Ug o 9% T 25 Y 29 HSW S
T I G O GHER 0 A, B @ C Ui
T & | U Td A SEA € B 20% A Ted
16% B e €, 14% C Ued €, 8% A 7 B Ugd
£,5% A9 C Ugd €, 4% B a C Ugd & 31 2%
dHT TR O Ugd & | 39 ST ot (b

TYTeAT ¢ o Uk 9T = Sate

25.

T GHMER 0 Fal Tl
(A) 0.60
(B) 0.50
(C) 0.65
(D) TH T HE T



26.

27.

28.

29.

30.

31.

32.

does not read C

(A) 0.65 (B) 0.86
(C) 0.2 (D) 0.22
reads A but not B

(A) 0.12 (B) 0.65
(C) 0.22 (D) 0.11

reads only one of these papers
(A) 0.11 (B) 0.12
(C) 0.86 (D) 0.22

reads only two of these papers
(A) 0.11 (B) 0.86
(C) 0.12 (D) 0.65

A three digit number is written down
by random choice of the digits 1 to 9
(repetition allowed). The probability
that at least one of the digits chosen is a
perfect square is

O ® 3
©) % (D) None of these

A and B throw a dice each. The
probability that A’s throw is not greater
than B’s throw is

7 5

(A) 15 B) 1
© = ©) 3

If o, B and vy are distinct real numbers,
then points with position vectors

o + i + 1k, 4147 + ok, 7+ of + b
(A) are collinear

(B) form an equilateral triangle

(C) form ascalene triangle

(D) form aright-angled triangle

26.

27.

28.

29.

30.

31.

32.

C =&t v

(A) 0.65 (B) 0.86
(C) 0.12 (D) 0.22
A el € e B @l |

(A) 0.12 (B) 0.65
(C) 0.22 (D) 0.11
T4 9§ Hael T GHER U Ugdl &
(A) 0.11 (B) 0.12
(C) 0.86 (D) 0.22
T4 9 el 3 GHER O Uedl ©
(A) 0.11 (B) 0.86
(C) 0.12 (D) 0.65

dqM 3Rl H T 1 ¥ 9 T (TR

3TAA) AGFes® € fordl STt & | 39
I T TS AT € foR g T e
T 4 T 37 q01 o1 Bl ?

2 ® *

(A)
(D) = q S Tl

© =

A 9 B U0 U $ed € | 9 a1
e ST € fF ‘A’ S ek ‘B’

) A T 0
A 15 ® 15
© % ©) 3

A o, B 7y fafere arafas wer &, @
ferfey 39T o + Bj + vk, Bi + v + ak,
vi + o] + Bk ¥ @ g

(A) WEE |

(B) THaE By T € |

(C) fourw =g Fgst oA &

(D) |HHIT BT T € |

P-8



33.

34.

35.

36.

37.

P-8

If @, B and € are three non-coplanar 33.

vectors, then (2 + B + ©) - [(@ + B) x
(& + ©)] equals
(A) 0

The value of [3 x i [ +[a x j2 + & x kP if 34,

(2] = a) is
(A) a°
(C) 2a?

(B) 3a’
(D) None

The Laplace equation 35

o%u

o%u .
+ a_y2 = 0 has solution

Ox2

(A) u=x*-y?

(B) u=log (x*+y?)
(C) u=coskxsinhy
(D) All of the above

If A and B are co—efficients of x" and 36.

X" in the expansion (1+ x)", then
(A) A =2xAB forsome A (#1)

(B) A=B

(C) A=B

(D) None of these

For
which of the following is true ?

(A) Mean = Mode = Median
(B) Mean > Mode > Median
(C) Mean < Median < Mode
(D)

Mean > Median > Mode

a positively skewed distribution, 37.

At (3] =a) @, [3 xi[2+[3 xR+
8 x k]2 =1 =1 fopemr &2

(A) a° (B) 3a?
(C) 2a? (D) &
ATATE THIHOT
2 2
% + 2—;; =0HEAL
(A) u=x>-y?
(B) u=log (x*+y?
(C) u=coskxsinhy
(D) SHIaT Tt

A ATBWER (1+ X)"d X ax" &
o &, @

(A) FTA(#1) Ffem, A=21B

(B) A=B

(C) A#B

(D) T | ®FE T

FENHS & W fowm § & fom,
it & F i W WE & 2

(A) T = TEAH (AIE) = AITeH
(B) W= > SgeTsh (HIS) > HITEAH
(C) wrea < Hifeaeht < SigeTeh

(D) e > HifeEH > FEeTh



38.

39.

40.

41.

42.

43.

Which is the best measure of
homogeneity of a series ?
(A) Arithmetic mean
(B) Standard deviation
(C) Quartile deviation
(D) Median
C,_,+"C, isequal to
1
(A) "C, (B ™,
€) ™c (D) None
3
% {tan‘l(ix_ 31((2)} is equal to
3
(A) 1+ 02
1
B) 5.2
(C) sec? 3x
3
(D) 1+ 2

For f(x) = (x — 1)%° the mean value
theorem is applicable in the interval

(A) [0,2]

(B) [1.2]

(C) Any finite interval
(D) None of these

If o (A) =mand o (B) = n, then the
number of relations from A to B is

(A) 2mn (B) 2m+n
(C) m+n (D) mn

If Z, and Z, are two non-zero complex
numbers such that [Z, + Z,| = |Z,| +
|Z,|, then Arg Z, — Arg Z, is equal to

A 5 ®) 7
C) -n (D) 0

10

38.

39.

40.

41.

42.

43.

fe=iferd & | S & TEETT $ g
3BT AT I 418 2

(A) ST AT

(B) T fageH

(C) =g foaer

(D) wfeEER

"C, .+ "C, T T & ?
(A "C, B) "C,
C) "™Cy (D) =&

3
(;j—x {tan‘l(:lgx__g);zj} feFgeh SR & 2

3
1+9x2

1
(B) 9+ 2
(C) sec?3x

3
(D) 142

(A)

f(x) = (x - 1)%/° % forq wrey 7= v,
3T H AN &I & |
(A) 10,2

B) [12]
(C) rE URMHa iR

(D) = ¥ His el

o0 (A)=m3o(B)=n3, TAAEB
Ao eyl ot T fehelt € 2

(A) 2mn (B) 2m+n

(C) m+n (D) mn

A Z, 9 Z, & YRR e HEA 9 @
B 6 (Z, + Z) = (Z)] + |Z,] &, A
Arg Z, - Arg Z,, e SR 8 2

® -3 ® 5
C) -n (D) 0

P-8



44,

45.

46.

47.

48.

49.

P-8

If Z is a complex number, then |Z + 1| =
A[3|Z - 1] represents

(A) circle

(B) hyperbola

(C) ellipse

(D) straight line

2 2+4 2+4+6

R F
(A) 2e B) e
(C) 3e (D) None of these

7" term of the sequence /2, /10,

52 ... is

(A) 1252 (B) 125

(C) 25\/2 (D) 12510
a 0o

IfA:{ 0 a Oj|,thenthevalueof
0 0 a

|A] |Adj A is

(A) & ®) @

© a° (D) a°

Ify:x—%2+%3—xz4+....thenxis

(A) -1 (B) log(1+y)

(C) e+1 (D) ¢

i 0
If A= 0 i ,n e N, then A*" equals

0 i
(A) 0
0 0
(B) 00
10
(©) 01
0 1
(D)_l 0

11

44,

45.

46.

47.

48.

49.

AT Z Ay W@ w, @ 2 + 1] =
A\[3 |Z - 1| Terzent gt & 2

(A) T

(B) fquac™

(C) <rHgd

(D) gl ¥@n

2 2+4 2+4+6 _
L 2 "3 Te*T

(A) 2e (B) e

(C) 3e (D) =W YL T

(A) 1252
(C) 252

(B) 125
(D) 12510

a 0o
agA=| 0 a 0 |, & d |A||AdjA|
0 0 a

7 7 fehe T € 2
(A) a* B) a’
© a° (D) a°
2 3 4

aﬁy:x—%+%—xz+....ﬁ,ﬁx%
(A) &¥-1 (B) log (1+Yy)
C) &+1 (D) ¢
a&rA:“ ?]neNﬁ,?ﬁA‘m
foheh SR & 2

0 i ]
A) Li 0]

00
(B) L0 0]

10
©) L0 1]

01
(®) L1 0]




50.

o1.

52.

53.

54,

55.

The 9" term of an A.P. is 499 and 499"
term is 9. The term which is equal to
ZEero is:

(A) 501"
(B) 5021
(C) 508"
(D) None of the above
The area bounded by the curve y? = 8x
and x? = 8y is
32 24
(A = B) T
72 64
© = ()

The derivative of sin x> with respect to
cos x° is equal to

(A) —tanx® (B)
(C) cotx® (D)

—cot x®
tan x3

The integrating factor of the differential

equation %(x logx) +y =21log x is

given by
(A) log(logx) (B) ¢€*
(C) logx (D) x
The line g + )é = 1 touches the curve
y = be™2 at the point
(C) (a, bla) (D) None
Co-efficient of x* in the expansion
1-3x-x2,
T is
5 4
(A) o4 (B) 5
24 25
©) 35 (D) 4

12

50.

51.

52.

53.

54.

55.

A.P. =T a1 Ug 499 & 3T 49987 g 9 €,
ST 9% I % SRR & TE &

(A) 5011
(B) 502"
(C) 508"
(D) T | ®FE T

T y? = 8x X2 = 8y FNT 3Tl & &

32 24
A = (B) %
72 64
€ 3 D) 7
cos x> & Ty W sin x° 1 FA [hah
TR & 2
(A) —tanx (B) -cotx®
(C) cotx® (D) tanx’

ﬁwﬁw%(xlogxﬂyzzmgx

T I 0T Fhers I T & 2
(A) log(logx) (B) ¢
(C) logx (D) x

%@T§+%:1Wy:be‘x’awm%§
WAl § 2

(A) (aba)  (B) (aab)
© @b (D) FEH
W%)i_xzﬁx‘laﬂwmﬁ?
A > ®) 2

(C) g—g (D) %

P-8



56.

S7.

58.

59.

60.

61.

P-8

The area between the curvey =1 —| x| 56.
and x-axis is
1
A 3 (B 2
1
© 3 () 1
If one root of the equation ax? + bx + 57.

¢ =0, a=0, be reciprocal of the other,
then

(A) b=c (B) a=c
(C) b=0 (D) a=0
If o and P be the roots of the equation 58.

(x —a)(x = b) = ¢, c # 0, then the roots
of the equation (x — a)(x —pB) +¢c =0
are

(A) a+b,b+c (B) ab

(C) b,c (D) a,c

The value of the expression 59.

5 i
4c, + > %, is equal to
=1

(A) 52C5 (B) 52C3
(C) 52C4 (D) 47C5
Let A be an inevertiable matrix. Which 60.

of the following is not true ?
(A) (A) "= (AT

(B) A™'=|A"

(C) (A =(AT)?

(D) None of these

2
The value off ’cos (%Xj ‘ is 61.
0
4 3
(A) B) 7
© 2 0) 3
13

aby =1—| x| 3R x-30T & < &
fepe & 2

(A) (B) 2

Nl Wik

(©) (D) 1

g AT ax® + bx + ¢ =0, a = 0 &
T gl 3 H § by &, of

(A) b=c (B) a=c

) b=0 (D) a=0

g o T B FHFOT (X — a)(x — b) = c,
C# 0% goT & af THEH (X — o)
(X—P) +c=07% qaA erif

(A) a+b,b+c (B) ab

(©) b,c (D) a,c

) 5 ., .
=5 4'C, + 3 % C, 1 AW fak
i=1
TWET T 9

(A) 52C5 (B) 52c3

(C) 52(:4 (D) 47C5

T o A ekrvie Bfeeg € | i
T F I A TE e 2

(A) (A=A

(B) A*=|A"

C) AYt=(ATY

(D) T ¥ HiE T

‘cos (%X) ‘ 1 T fehe T & 2

O Y—— ™

A 2 ® o
© 2n 0) 3



62.

63.

64.

65.

66.

67.

The resultant of two forces P and Q is
R. If Q is doubled, the new resultant is
perpendicular to P, then

(A) P=R (B) P=Q

(C) Q=R (D) None of these

A weight of 10 kg is supported by two
strings which make an angle of 30° and
60° with the vertical. Then the tensions
in the strings are

(A) 5,10 (B) 5,5

(C) 10,143 (D) 5,53

A force of fixed magnitude and variable
inclination 0 to the Y-axis acts in the
oxy plane at a fixed point (a, b). Then
the moment is minimum if 6 is

® 7 ®) =
3
© 5 @) 5

A particle moves in a plane with
constant speed, then velocity and
acceleration are

(A) equal (B) parallel

(C) perpendicular (D) zero

If a man can throw a ball h metres
vertically upward, then the greatest
horizontal distance he can throw is

(A) h (B) 2h

(C) 3h (D) 4h

A particle is projected under gravity
with velocity V(2ag) from a point at a
height h above a level plane. The angle
of projection o for a maximum range is
given by

(A) tan*o=7 ¢
(B) tana= a-;Lh
(C) tana= ﬁ—ah
(D) tan’o = az+—ah
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62.

63.

64.

65.

66.

67.

T =l P Q i aRomH R € 1 3fg Q

AT T ST ot o aRone P % dead
g g, o

(A) P=R (B) P=Q

(C) Q=R (D) T ¥ HiE &
T Rt 9 ekt 10 fohell o1 9R Sl &
g 30° o 60° HT HOT ST & | 3
et 1 o fhar e 2

(A) 5,10 (B) 5,5

(C) 10,13 (D) 5,53

s Ffvad aRHmoT & 561 0 F Y-31T W
uRadt emd Ffvea &g (a, b) W oxy
A | AT ST E | A SO AT
BT e AT 0T

® 7 ®)
3
© 7 D) 5

FHIE FHUT, THAA § 4 i & gHar €, o
B F R &
(A) @A

(C) 3hfeia

(B) THFIR
(D) ==

I T SAMFT T 75 Bl h HeX 0 Hf
AR ek Gl &, o fohael o 3tfashaq
&St 33 AP Wk HehelT & 2

(A) h (B) 2h

(C) 3h (D) 4h

T U7 I Tocd o 3T V(2ag) o 9
qIdet ¥ h FaE a% U fog T welfud
fopa ST € 1 efusham I % fetw wegoT

0T o, FeFEe AT 71T & 2
(A) tan®o = T

(B) tana= a+h

(C) tana= a2+ah

(D) tan’a = a2+ah
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For Q. 68 to Q. 75, read the following and
answer the succeeding questions :

The first four moments of distribution about

the value 5 of the variable are 2, 20, 40 and 50.

68.

69.

70.

71.

72.

73.

74.

75.

P-8

The value of Arithmetic Mean is

(A) 10
(C) 5

(B) 20
D) 7

The number of 2" central moment is

(A) 16
(C) 18

(B) 8
(D) 15

The value of 3™ central moment is

(A) 16
(C) -64

(B) -32
(D) -40

The value of 4™ central moment is

(A) 142
(C) -64

The value of B, is
(A) 0
€ 2

The value of B, is

(A) 0.43
(C) 0.83

The value of y, is
(A) -1
€ o

The value of v, is

(A) 2.37
C) 3

(B) 155
(D) 162

(B) 1
(D) 1.33

(B) 0.53
(D) None of these

B|B) 1
(D) None of these

(B) -2.37
(D) 1

3T 68 ¥ 75 & iU =7 =l U¢ T 3T & Ul

FIWT |
og 5 % Y™ de & Teet IR 3ot 2, 20,
40950% |
68.  SiHTTUTCH Hrer o W feberr € 2
(A) 10 (B) 20
€ 5 (D) 7
69. S HeF MUY i WA feheT & 2
(A) 16 (B) 8
(C) 18 (D) 15
70. dIER e STEOT 1 A e § 9
(A) 16 (B) -32
(C) -64 (D) -40
71. <Y T ST T fhaT § 2
(A) 142 (B) 155
(C) -64 (D) 162
72. B, W fohe & 2
(A) 0 (B) 1
C) 2 (D) 1.33
73. B, AW A E 2
(A) 043 (B) 0.53
(C) 0.83 (D) T HIE T&
74. vy, % A AT 2
(A) -1 (B) 1
€ 0 (D) T HHE T
75. v, 1AM fRa § 2
(A) 2.37 (B) -2.37
€) 3 D) 1




Space For Rough Work / =2 %/ & feu s
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